Chapter 21

Problem 21-1
a. (1) Profit; (2) Investment; (3) Cost; (4) Cost; (5) Profit; (6) Investment.

Problem 21-2
Product responsibility margin for Jewelry Line = $160,000

Problem 21-3
Division responsibility margin for Commercial Sales = $330,000.

Problem 21-4
Division responsibility margin for RowMaster = $150,000

Problem 21-5
Expected change in responsibility  margin for Product A = $4,400

Problem 21-6
Closing Rod Division would have increased operating income to $9,000.

Problem 21-7
Contribution margin of Pump Division = $750,000

Problem 21-8
Total cost per unit under full costing = $40.00

